Practical Exercises : Ordinal data analyses

Simulated Continuous data of 625 MZ and 625 DZ pairs (h2=.40 c2=.20 e2=.40), dichotomised. 

The distribution of scores was 0 = bottom 88% (e.g. non-aggressive); 1 = top 12% (e.g. aggressive). Sim Cor MZ=.60 DZ=.40

RAW ANALYSES OF CONTINUOUS DATA:

	Model
	-2LL
	df
	((2
	(df
	sig
	

	ACE
	6702.8&
	2493
	-
	-
	-
	

	AE
	6710.8
	2494
	8
	1
	ns
	

	CE
	6731.1
	2494
	28
	1
	sig
	

	E
	7092.7
	2495
	88
	1
	sig
	


& h2=.40, c2=.20, e2=.40
(I) Contingency Tables : 2 categories

	MZ
	0
	1
	
	DZ
	0
	1

	0
	508
	48
	
	0
	497
	59

	1
	35
	34
	
	1
	49
	20

	
	
	
	
	
	
	


First script to run tetracor.mx 

rMZ  = .65(.52-.76) 


rDZ   = .36(.18-.53)

TEST OF EQ IN TH  OS=625x4=2500-6=2494

	Cor model 2 Categories
	-2LL
	Df
	p
	((2
	(df
	sig

	All TH free &
	1750.2
	2494
	
	-
	-
	-

	THtw1=THtw2 in MZ 
	1752.2
	2495
	
	2.05
	1
	Ns

	THtw1=THtw2 in DZ
	1751.1
	2495
	
	0.93
	1
	Ns

	All TH equal
	1753.2
	2497
	
	2.99
	2
	Ns


& TH: 1.22 / 1.12  (MZ)   &  1.22 / 1.14 (DZ)
TH 1.18

Second script to run ACEbin.mx 

SUMMARY OF ANALYSES 

	Model
	-2LL
	Df
	P
	((2
	(df
	sig

	ACE
	1753.2
	2497&
	
	-
	-
	-

	AE
	1753.4
	2498
	
	.18
	1
	ns

	CE
	1760.2
	2498
	
	7.05
	1
	sig

	E
	1830.6
	2499
	
	77.5
	2
	sig


& OS=2500+1=2501-4=2497
	Estimates
	H2 (95%CI)
	c2 (95%CI)
	e2 (95%CI)

	ACE
	.57 (.15-.76)
	.08 (0-.42)
	.35 (.24-.49)

	AE
	.66 (.53-.76)
	-
	.35 (.24-.47)


! 3 categories: 2 Thresholds per liability, two for twin1 and two for twin2

! 0 = bottom 22% (non-agressive at all)

! 1 = mid 66%
 (sometimes agressive)
 

! 2 = top 12%
 (very agressive)

(II) Contingency Tables : 3 categories

	MZ
	0
	1
	2
	
	DZ
	0
	1
	2

	0
	80
	58
	1
	
	0
	63
	74
	2

	1
	68
	302
	47
	
	1
	71
	289
	57

	2
	1
	35
	34
	
	2
	4
	45
	20


First script to run polycor.mx 

rMZ  = .66 (.58-.73) 


rDZ   = .46 (.37-.55)

TEST OF NORMALITY  OS 2500-10

	Cor model 3 Categories
	-2LL
	df
	p
	((2
	(df
	sig

	All TH free &
	4076.5
	2490
	
	-
	-
	-

	THtw1=THtw2 in MZ
	4079.3
	2492
	
	2.79
	2
	Ns

	THtw1=THtw2 in DZ
	4077.4
	2492
	
	.937
	2
	Ns

	All TH equal
	4080.5
	2496
	
	3.96
	6
	Ns


& TH: 

0.02 1.22 
0.03 1.22

TH: -0.75  1.18

0.00 1.12  (MZ)   0.00 1.14  (DZ)

Second script to run ACEcat.mx 

SUMMARY OF ANALYSES 

OS 2500+1=2501 – 5=2496

	Model
	-2LL
	Df
	P
	((2
	(df
	sig

	ACE
	4080.5
	2496&
	
	-
	-
	-

	AE
	4087.4
	2497
	
	6.9
	1
	Sig

	CE
	4092.5
	2497
	
	12
	1
	Sig

	E
	4335.8
	2496
	
	255
	2
	Sig


	Estimates
	h2 (95%CI)
	c2 (95%CI)
	e2 (95%CI)

	ACE
	.39 (.17-.62)
	.27 (0.07-.45)
	.34 (.28-.42)











